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3. (109) IEEAEBFEGSSZE

code segment ;

start: ;

mov al, 5 ;

mov bl, 10 ;

add bl, al ;

sub bl, 1;

mov cx, 8 ;

print: mov ah, 2 ;
mov dl, '0" ;

test bl, 10000000b ;
jz zero ;

mov dl, '1";
zero: int 21h ;
shlibl, 1;

loop print ;

mov dl, 'b" ;

int 21h ;

mov ah, 1 ;

int 21h ;

mov ax, 4c00h ;
int21h ;

ends ;
end start ;

4. (102)EEEABRETNSZE

org 100h;

game: mov dx, offset msg1 ;

mov ah, 9;

int 21h;

mov ah, 1;

int 21h;

cmp al, '0';

jb stop ;

cmp al,'9';

ja stop;

cmp al,'5';

jb below ;

ja above ;

mov dx, offset equal 5;

jmp print ;

below: mov dx, offset below 5 ;

jmp print ;

above: mov dx, offset above 5;

print: mov ah, 9;

int 21h;

jmp game ;

stop: ret;

msg1 db "enter a number or any other character to exit: $" ;
equal 5 db " is five! (equal)", ODh,0Ah, "$" ;
below 5 db " is below five!", 0Dh,0Ah, "$" ;
above 5 db " is above five!", 0Dh,0Ah, "$" ;
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